Orden de Operaciones (G)

Realice las operaciones en el orden correcto.

67,21 — (98,58 — (16,45 + 17,52+ 81,84 — (68,98 — 44,84)))

[

N

40,54+ 16,72+ (64,77 +26,23) x 53,99 +23,77 + 7,4

W

. 4,25 % 35,36 — (79,64 — (12,8 — (84,72 — 82,8) +59,59))

4. 69 — (62,8 +27,88 —88,21) 479,23 — (56,17 — 48,52)

91

- 61,35-21,36+71,3 — 66,24 153,37 — 26,43 +-22.98
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Orden de Operaciones (G) Answers

Realice las operaciones en el orden correcto.

67,21 — (98,58 — (16,45 + 17,52+ 81,84 — (68,98 — 44,84)))
= 60,3

40,544 16,72 + (64,77 +26,23) x 53,99+ 23,77 +17,4
—5.001,52

4,25 % 35,36 — (79,64 — (12,8 — (84,72 — 82,8) +59,59))
= 141,11

. 69— (62,8+27,88—88,21)+79,23 — (56,17 — 48,52)
— 138,11

. 61,9359—21,364—71,3—66,24+53,37—26,43—|—22,98
— 94,97
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